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小学生の「つまずき解消」完璧ドリル　２年生
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                 　 点計算をしましょう。

８×５＝

９×２＝

９×７＝

２×８＝

４×９＝

４×６＝

５×６＝

９×５＝

１０×６＝

０×７＝
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                 　 点計算をしましょう。

２×３＝

１０×３＝

□×９＝４５    □＝

□×５＝３０    □＝

□×８＝７２    □＝

□×８＝２４    □＝

□×４＝８     

５×□＝２０    □＝

５×□＝３５    □＝

７×□＝１４    □＝

□＝
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                 　 点計算をしましょう。

□×６＝２４    □＝

□×７＝４２    □＝

５×□＝４０    □＝

３×□＝２７    □＝

７×□＝２１    □＝

□×４＝３６    □＝

□×６＝１８    □＝

３×□＝１５    □＝

９×□＝７２    □＝

□×４＝３２    □＝
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                 　 点計算をしましょう。

□×６＝３０    □＝

３×□＝６

３×□＝１２    □＝

□×２＝１０    □＝

７×□＝２８    □＝

□×８＝３２    □＝

３×２×３＝

４×２×５＝

３×３×３＝

８×１×６＝

□＝
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